PVG 32 Pr rti [ Valv
Sgﬁl[{]EFRoss Service Pa?EOMa?EIZI e

PVAS for PVP

PVAS, ASSEMBLY KIT,
PVP

%95*34Ibﬁin]
157-110.10

13[0.51]

36 DKMH.PS.570.A5.02 520L0211



PVG32P tional Valv
Sgﬁl&EFRoss Service P;?tpsol\r/la?\r:;I e

PVAS for PVP
PVAS, ASSEMBLY KIT,
PVP
Type Code No.
PVAS for 1 PVB on PVGI 157B8000
PVAS for 1 PVB basic module / for 2 PVB on PVGI 157B8001
PVAS for 2 PVB basic module / for 3 PVB on PVGI 157B8002
PVAS for 3 PVB basic module / for 4 PVB on PVGI 157B8003
PVAS for 4 PVB basic module / for 5 PVB on PVGI 157B8004
PVAS for 5 PVB basic module / for 6 PVB on PVGI 157B8005
PVAS for 6 PVB basic module / for 7 PVB on PVGI 157B8006
PVAS for 7 PVB basic module / for 8 PVB on PVGI 157B8007
PVAS for 8 PVB basic module 157B8008
PVAS for 9 PVB basic module 157B8009
PVAS for 10 PVB basic module 157B8010
Item | Description Code No.
1 Nut 8,0 681X0526 6|6|6|6(6(6
2 Washer 8.1 x 15.2 x 1.5 [0.53 X 0.69 x 0.06 in] 684X2591 6|6|6|6(6|6
Stay bolt M8; L = 91 [3.58in] 155L8350
Stay bolt M8; L=140 [5.51in] 15518351
Stay bolt M8; L=189 [7.44in] 15518352
Stay bolt M8; L=238 [9.37in] 15518353
Stay bolt M8; L =287 [11.30in] 15518354
3 Stay bolt M8; L=336 [13.24in] 15518355 3
Stay bolt M8; L=385 [15.16in] 15518356 3
Stay bolt M8; L=434 [17.09in] 15518357 3
Stay bolt M8; L=483 [19.02in] 15518358 3
Stay bolt M8; L =527 [20.75in] 15518359 3
Stay bolt M8; L=576 [22.68in] 155L8360 3
4* O-ring 5.0 2.0[0.20 % 0.08 in] 633B1809  [24(22(20(18|16|14 4
5% O-ring @44.0x2.5[1.73 x0.10in] 155L2389 111|111 1
6% O-ring @16.0x2.5[0.63 x0.10in] 633B1817  |48|44(40(36|32|28 8
7% O-ring ©10.0x2.5[0.39 x0.10in] 633B0120 (10(9(8(8|7|6 1
* Set of seals (see page 50) 157B8999 1111

DKMH.PS.570.A5.02 520L0211



